HEMISTRY
ELIJKINGEN

. Na +...Clz =2 ... NaCl

19.
e SaHs + ... 02 =2 ... 502 + ... H:0

e Al + ... 02 2 ... Alz2Os

. KCIO: 2 ... K|+ ... Oz

21.
. NsHz + ... Br = ... NBrz + ... HzB

23.
wNF:+..NO=..N2+..F0

.CaHg +..02=2 ... H0 +... CO;

10.
. CS2+4..0:=2 ...CO2 +...50;

25.
e NsHig + ... O3 9 e NOz + ... H2C

11.
e Sb205 + ... HCL =2 ... SbCls + ..
H20

WA+ .. 022 ... Al:Os

77.
. CsNag + ... F2 = ... CF2 + ... NaxF

13.
. FeCls + ... Na > ... Fe + ... NaCl

14.
. CsHig + ... 022 ... CO2 + ... H20

29.
... Kz0 + ... H:0 =2 ... KOH

15
I B, -> ...

16.

31.
e SIG+ o Clz > ... SiCla + ... C

17.
e AS20s + ... HB[, =2 ... AsBrs + ...
H20

18.
e CBrz +...02=2 ... COz + ... BrO:

33.
..Na+..H:0—> .. N2QH + ... Hz

35
... MENH4PO:s - ... MgaP207 + ...
NHs +... H20




